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Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION-A/ ©@US-%h )
(Long Answer Type Questions)/( ¥l 3w ated W9 )

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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1. Explain the meaning and assumptions of indifference curve

analysis. What are the properties of indifference curves ?

MM g% favermor & el 9w ot fadse
FIfQ SAREE S w1 v s 82

2. Explain the revealed preference theory of consumer

behaviour.

YA % SHIER § Gwfd 3guied (Wehfed) Sifudme

95T 1 AT HifU|

3. Define perfect competition. Show how equilibrium is
attained in both short-run and long-run periods by a
competitive firm ?
qui gfqefin & uRwifed wifsw gl gfErt wH
FeUHT R AefRl W Gged S W@ g 872

4. “Profit is payment for uncertainty bearing”. Discuss.

“oy erfiYEdar g8 U T YRR 21 HHEEu|

S-380-BAEC-101 EC-01 2



SECTION-B/( @Us-@)
(Short Answer Type Questions)/( g I A T9T)
Note : Section 'B' contains eight (08) short answer type

questions of eight (08) marks each. Learners are required

to answer any four (04) questions only. (4x8=32)

Me: @re ‘@ H A8 (08) oY I oA T A
™ ¥, TO% T & fau e (08) i frwifa
g1 foenfefal =l 9 ¥ wow WR (04) WA &
S T

1. Explain briefly the wantlessness definition of Economics.

SIS i SAEvIhdl fagiar T uftar &1 gfera
A Hifeg|

2. Explain the relationship between marginal utility and total

utility.

HH SN 9 | STNT ® WS TR R

Hifeg|

3. Explain the features of Iso-product curves.

T o ohi fa9Ioae sy
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What do you mean by consumer's surplus ?

3UhET ® S9d 9 o R OEEd ©7

Explain the concept of Pareto optimum in brief.

Tgq o TR STIwRed ¥R H ST hiful

Distinguish between internal and external economics.

Afeh Td 9@g J=dl § favgg wifew)

Discuss the quasi-rent.

Y M hl GHAEU

Define nominal wage and real wage. What are the main

determinants of real wages ?

THE HeEY SR aRdfas wegd H uiefud wife)
ardtas woRl % qE iR ®E-wiA 82
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SECTION-C/( @Ug-1T)

(Objective Type Questions)/( &S Y97 )

Note : Section 'C' contains ten (10) objective type questions

of one (01) mark each. All the questions of this section

are compulsory. (10x1=10)

gug ‘v H 7™ (10) TS T RS W€,
g U & foau e (01) ofw fauifa ®1 <@
e & it v efverd 2

Choose the correct answer.

TEl IW hT TIT HISTY

1.

‘Who wrote the “Wealth of Nations” ?

(a) Karl Marx (b) Adam Smith

(¢) D. Ricardo (d) None of these.
“dey ot e fEEe fer @2

(1) el AT (@) Ten fome
(T) 2. et (%) T ¥ & T

The slope of indifference curves represents
(a) Price Ratio (b) Factors substitution

(c) Diminishing MRS (d) None of these.
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(&) oA giqeerq

(W) BroaH HiH= gfaery

() T ¥ FE T

3. If the demand curve is parallel to Horizontal (x-axis), then

demand will be
(a) More elastic (b) Perfectly inelastic

(c) Perfectly elastic (d) Less elastic.

e T G QA (x-3eT) ® R 8, B g% i A
Bt

(1) Afd  dAERR (9) Yo etr=Rr
(W) goican T=ER (%) ®F AERI

4. The first condition of a firm being in equilibrium is

(@ AR = AC (b) TR = MC
(©) AR =MR (d) MR = MC.
T4 % Taer H YUY A B

(37) AR = AC () TR = MC
(¥) AR = MR (3) MR = MC.
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5. Price discrimination is the characteristics of :
(a) Perfect competition (b) Imperfect competition

(c) Monopoly (d) None of these.
Fma fadgdw faewa @

(37) gui gfaifmar &t () ol gfaAfar =i
() TEfRR 1 () &8 9 R T

6. Under monopoly, a firm will always earn in the long period :

(a) Abnormal profit (b) Normal profit

(c) Loss (d) Market profit
el § Th TEER wH med afid wml
(37) SEMEE o4 () 9H o9

(9) =14 (%) ISR e

7. According to Keynes, the demand of money for speculative
purposes will depends upon :

(a) Income (b) Role of interest

(c) Both (a) and (b) (d) None of these.

F & ATIR WA /A & fau gm & " AR
Ll

(37) 3™ W
(F) &N W W
(@) (31) &R (F) I W
() S | ° HE T
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8.  Which relation is correct for quasi rent ?

(a TR-TVC (b) AC-AVC
(¢) TR-TC d) P-AC.

A TH & TG wF W R " @2
(31) TR-TVC (a) AC-AVC
(@) TR-TC () P-AC.

9. In welfare economics, social welfare function was given by :
(a) Bergson-Samuelson (b) Hicks
(c) Kaldar (d) Scitovsky.
FEAURR SRS H IS Hedo Hed a1 T o
(37) TEF-T=ed g0 (9) e g
(¥) HleeR FN (%) fae=ent g

10. Lonable funds theory of interest is known as :
(a) Classical theory
(b) Keynesian theory
(¢) Marginal productivity theory
(d) Neo-classical theory.

=S 1 O FwN fagid S oS B
(37) = w1 gfafsa fagr

(F) =N &1 S Gg

(F) AN & S| SARhar fagid
(%) =S 1 qa-gfafsd fagr
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